Math 61 Winter 2007 . Name:

QUIZ #1 @ 85 points

Write in a neat and organized fashion. Use a pencil. Show all work to get credit.

1) Write the converse, inverse, and contrapositive of the following statement:

You cannot comprehend geometry if you do not know how to reason deductively . (P->Q)
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2) Form a truth table and determine all possible truth values for (P vO)->P.

Is the given statement a tautology? Pl @ ‘ Pv ( Fv &> ~> P
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3) Complete the following to make valid arguments:
a) Premise 1: P->Q b) Premise 1: P->Q
Premise 2: ~Q Premise 2: =R
Conclusion: "V p Conclusion: P —> R

Then give the symbolic form for (a) and prove it using a truth table. State clearly how you know for sure

that you have proved the law ‘ : R
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4) Classify the following names as names of points, lines, segments, distances (lengths), rays, or angles.
Make a drawing for each geometric figure

r» LB
a) AB _ Yyne M Check one: geometric figure fh/ real number [

ﬁ S ..
b) AB [ dgjj — Check one: geometric figure E/ real number [
85 a
———o
¢) AB. tene 5P 7 eat Check one: geometric figure Ii’]/ real number [J

d) AB WMeetew ¢ Ssuses7 #5 Check one: geometric figure ] real number [{ﬂ/

c
A 4
e) LABC MCL Check one: geometric figure E/ real number

5) Given the figure, name:

a) three acute angles c
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b) Two right angles
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¢) One obtuse angle
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d) One straight angle
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g) Two adjacent angles h) Two nonadjacent angles
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6) a) State the hypothesis and the conclusion for the following statement both in words and using
mathematical symbols. Make a drawing to illustrate the statement. Do not prove.

Two equal supplementary angles are right angles.

Hypothesis:
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b) State the converse of the above statement. Is it true? Why or why not? ' Lot Pf
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7) Show a formal proof ( two column proof: statements and reasons) for the following:

Given: mZRST =2x+9

mZISV =3x-2
mZRSV =67°
Find: x.
Pros £
(Hefewiens fuasns
/. TE int < ST /- 5rven ot S1C.
A MRET # wc TSV mw< LSV 2 s - Aetelly o 0Tt oty
5. [ m< BST = 2x+9F 3 e
. % Y
wexy - 3X-2 51 ea
MRSV = 67° | Lodd
v 4,00 Her trve
2X#9 # 3X-2 = 6/ y M

¢.

; wple f310 o Vit i

/ry Sx 4 7=67 < cﬁ,?c,é,‘; (4 TV rbute ve f"?’ |
A SX= 6o G- /4&!///&/575{/(2/‘/04/0»0/)- ‘7 =

7 . _

X= .f.f;-/z 7 /Vuayﬁﬂéwm /*0/? M .=

/



